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About PASS4SURE.in

PASS4SURE is aprofessional online practice test bank for various NSENCFM, NISMand BSE exams. The team
behind PASS4SURE hasdecadesof experienceinthefinancialandstock marketsandhavesucceededinpreparing
practice question bank which will help not only to pass the exams easily but also get good knowledge of the
subject.

Ouronlinemock exams contain questions whichare carefullyanalysedbythe expertsandhave ahighprobability
of being asked in the exams. Thus all PASS4SURE questions are highly valued and contribute to an almost 100%
success rate.

We do not believe in offering you thousands of questions but most important 400 — 500 practice questions and
answers. PASS4SURE understands that timeand moneyis valuable forour students, soweregularly updateallour
exams. The old questions are deleted and new important questions are added. Our LAST DAY REVISION test are
on the spot. This is done to ensure that the students learns what is most important and pass the exams. You do
not have to try again and again wasting time and money.

Our simple aim is to simplify the NISM, NCFM and BSE exams. ALL THE BEST.

IMPORTANT-Theviewingrightsfor thisdownloadedQuestionBankwillautomatically expireafter 60daysfrom
the date of purchase.

TESTDETAILS—The NISMSECURITIES MARKET FOUNDATION CERTIFICATION EXAMis a 100 mark exam with 60%
as passing marks. In all 100 questions will be asked with 0.25 negative marking for Wrong Answers. The time
durationis 2 hours.

All Rights Reserved. No Part of this documents may be reproduced, stored in a retrieval system, or transmitted, in
anyformorbyany means, electronic, mechanical, photocopying, recording or otherwise, without the prior
written permission fromPASS4SURE.in. Forany clarificationregarding thisdocumentorifyoufeelthereare
errorsin the question bank, please write us at info@pass4sure.in
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Question 1 Whichofthefollowingisrankedlastbothintermsofprofitsharingandreceivingliquidation
proceeds?
(@) Government Creditors
(b) Lenders
(c) Employees
(d) Equity Shareholders

Correct Answer  Equity Shareholders

Answer Explanation Ifabusiness were tofail, the proceeds from liquidation of assets are first paid to other claimants
such as government, lendersand employees, andany residualamount, ifatall, is paid to equity

shareholders, after paying out preference shareholders, if any.

Question 2 Market capitalization ofastockisimpacted by
(a) Changes in price of the stock
(b) Liquidity in the market
(c) Level of trading volumes
(d) Changes in market index

Correct Answer  Changes in price of the stock

Answer Explanation Marketcapitalization =The market value ofacompany, calculated by multiplying the number of

shares issued and outstanding by their current market price.

Thenumber of sharesissuedisconstant, the marketprice of the shares changesonadaily basis
which affects the Market capitalization.
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Question 3 The net asset value of a mutual fund primarily reflects which one of the following?
(a) The income of the fund’s constituents
(b) The current market value of the fund’s portfolio
(c) The expenses of the AMC
(d) The dividends and interest payable to investors

Correct Answer  The current market value of the fund’s portfolio
Answer Explanation The Net Asset Value (NAV) is the current value of a mutual fund unit.

Itis the current market value of the securities heldin the portfolio of the fund and any income
earned such as dividend and interest. From this value, the costs and expenses charged for managing
the fund are deducted. The value remainingis called the net assets of the fund.

Question 4 Whichofthefollowingcategories of shareshavetobe mandatorily listedonastockexchange?
(a) All shares depending upon the terms of the issue
(b) All shares issued in a public issue
(c) All shares issued to non-promoters
(d) All shares issued by a company

Correct Answer  All shares issued in a public issue

Answer Explanation Aprimary marketissue (publicissue)distributesthesecuritiestoalarge numberofinvestorsanditis
mandatory to list a public issue of securities in the stock exchange.
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Question 5 isthe process of identifying what is owed to the buyerandsellerinatrading transaction on
a secondary market.

(a) Clearing
(b) Settlement
(c) Hedging
(d) Trading

Correct Answer  Clearing
Answer Explanation Secondary market transactions have three distinct phases: trading, clearing and settlement. To trade
in shares is to buy and sell them through the stock exchanges.

Clearingis the process of identifying whatis owed to the buyer andsellerinatrading transaction;
and settlement is the mechanism of settling the obligations of counter parties in a trade.

Question 6 Which of the following is a financial goal?
(@) Fund child’s education in 10 years with Rs. 10 lakh
(b) Create a corpus of Rs. 1 crore to fund the future needs
(c) Invest in equity for long term wealth of Rs. 5 crore
(d) Build enough assets to last life time of 30 years

Correct Answer Fund child’s education in 10 years with Rs. 10 lakh

Answer Explanation Financialgoalisthetermusedtodescribethefutureneedsofanindividualthatrequirefunding. It
specifies the sum of money required to meet the need when it is required.

Goalsdescribedintermsofthemoneyrequiredtomeetitatapointoftimeinfuture,iscalleda
financialgoal.Intheabove question, onlytheoption-'Fund child’seducationin10yearswithRs. 10
lakh clearly states the purpose and the amount required for that purpose.
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Question 7

(@)
(b)

Correct Answer

Answer Explanation

Question 8

(@)
(b)
(©
(d)

Correct Answer
Answer Explanation

PRACTICE TEST -1

theopeninterestasapercentage of traded volume, the greateris the liquidity in the market

Larger
Lower

Larger

Openinterestiscompared with the volume of tradinginthe derivatives market. The larger the open
interestasapercentage of traded volume, the greateris the liquidity inthe market. Anincrease
inopeninterestisseenasanindicator of liquidity asitmeans freshmoney is flowingintothose

contracts.

The Net Asset Value (NAV) of a mutual fund scheme isRs. 18 and the exit load is 2%. What will be the
redemption price per unit ?

Rs. 17.64
Rs. 18.36
Rs. 18

Rs. 19.12

Rs. 17.64
Mutualfunds mayimposeachargeontheinvestorsatthetime of exitingfromafundcalledthe

exit load. Itiscalculatedasapercentage of the NAVandreduced fromthe NAVtoarrive atthe price
that the investor will get on exiting from the investment.

Redemption Price = NAV less Exit load

In the above question, NAV is Rs. 18 and the exit load is 2%.
2% of Rs. 18 is 0.36
So the Redemption Price is 18 - 0.36 = Rs. 17.64
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Question 9 How can you calculate the coupon of abond if the market price of the bond and its yield are known?
(a) Coupon Rate = Market Price of the bond / Current Yield
(b) Coupon Rate = Current Yield / Face Value of the bond
(c) Coupon Rate = Current Yield / Market Price of the bond
(d) Coupon Rate = Face Value / Market Price of the bond

Correct Answer  Coupon Rate = Current Yield / Market Price of the bond

Answer Explanation Current yield = Coupon rate/ Market price of the bond
So if market price and the current yield are known, one can compute the Coupon rate
as : Current Yield / Market Price of the bond.

Question 10 Thereservesofacompanyrightfully belongto
(@) Promoters
(b) Institutional lenders
(c) Employees
(d) Equity Shareholders

Correct Answer  Equity Shareholders

Answer Explanation The share of profits that is not distributed to shareholders is known as retained profits ie.
the company’s reserve funds. Reserves belong to the shareholders, though it remains with the
company until it is distributed as dividend.

Reservesrepresent retained profits thathave notbeen distributed to the rightful owners of the
same, namely the equity investors.
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(@)
(b)
(©)
(d)

Correct Answer

Answer Explanation

Question 12

@)
(b)
(©)
(d)

Correct Answer

Answer Explanation
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IncaseofaBookBuiltissue, theoffer willbe openforaperiodbetween 3to7days extendable by
days in case of a revision in price band.

- U1 W

3

AFixedPricepublicissue will be openforaminimum of three working daysanda maximum of 10
working day.

Forbookbuiltissues, the offer willbe openforaperiodbetween 3 to 7 days extendable by 3days in
case of a revision in price band.

Abondisissuedataface value of Rs.100andacouponof 10%p.a. Theinterestratesin the market
haveincreasedsubsequently. Thisbondislikelytoquote__

At the face value

At a price above face value

At a price below face value

At a price that reflects its credit risk

At a price below face value
The higher the discountrate or yield, the lower the present value. Assume thatabond pays 10%

interestfor the next 10years, and the marketyield for acomparable bondhas moved up to 12%. The
future cash flows of this bond will now be discounted at 12% and the bond will be worth much lesser.

(Alternatively, ifthesamecashflowsarediscountedat 8%, the valueofthebondwillbe higher)
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Question 13 Calculatethe currentyield of abond whose face valueisRs. 100 andit pays 9% coupon. The current
market price is Rs. 114.
(a) 6.80%
(b) 7.80%
(c) 8.80%
(d) 9.80%

Correct Answer 7.80%

Answer Explanation Current yield simply compares the coupon of a bond with its market price.
Current yield = Coupon rate/ Market price
As per the given data -
Current yield =9/ 114
=0.078 (x 100 ) =7.8%

Question 14 Theissue of debtsecuritiesisregulatedbythe provisions of the SEBI (Issuance of Capital and

Disclosures Requirements) Regulation, 2009 - State True or False ?

@) TRUE
(b) FALSE

Correct Answer FALSE

Answer Explanation Theissue of debt securities is regulated by the provisions of the Companies Act and SEBI’s Issue and
Listing of Debt Securities Regulations, 2008.
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Question 15 Thelargertheopeninterestasapercentageoftradedvolume, thegreateristheliquidityinthe
market - State True or False ?

@) TRUE
(b) FALSE

Correct Answer TRUE

Answer Explanation Openinterestiscomparedwith the volume of tradinginthe derivatives market. The larger the open
interestasapercentageoftradedvolume,thegreateristheliquidityinthemarket. Anincrease

inopeninterestisseenasanindicatorof liquidity asit meansfreshmoneyisflowingintothose

contracts.
Question 16 Circuitlimitsforindividualstockscannotbefixedby thestockexchanges -State TrueorFalse?
(a) TRUE
(b) FALSE

Correct Answer FALSE

Answer Explanation Ifthereisanabnormalpercentagechangeinthepriceofastock,theexchangecansuspendtradingin
thatparticular scrip. Such heavy movementinpriceiscalled “hittingthecircuit breaker.” Stock
exchanges fix price bands (circuit limits) for individual stocks.
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Question 17 Individual investors are categorized as retail investors who invest not more than inapublic
issue
(a) Rs.1 lakh
(b) Rs.2 lakhs
(c) Rs. 50,000
(d) Rs. 5 lakhs

Correct Answer Rs.2 lakhs

Answer Explanation Individual investors are categorized as retail investors who invest not more than Rs.2 lakhs in a public
issue and Non-Institutional buyers who invest more than Rs.2 lakhs.

Question 18 State True or False - One type of investment cannot meet all requirements like liquidity, growth,
regular income etc.

@) TRUE
(b) FALSE

Correct Answer TRUE

Answer Explanation Asingletypeofinvestmentcannotmeetallthe needs. Foreg. Forgrowthpurposeoneshouldinvest
in equity, for regular returns one should invest in debt etc.
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(@)
(b)
(©)
(d)

Correct Answer
Answer Explanation

Question 20

(@)
(b)

Correct Answer

Answer Explanation
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Peopleseektheservicesoffinancialplannerforvariousreasons. WhichoneofthebelowisNOTa
reason for it?

Plenty of investments and insurance products available

There is lack of social security in India and life span has also increased
Its a regulatory requirement

The investment products are complex and difficult to understand

Its a regulatory requirement
Financial planning is not a regulatory requirement. Its not required by law.

Financial planning is done because there is need for retirement planning, difficult to understand
investment products etc.

Unexecuted limit orders are carried forward to the next trading day on Indian Stock Exchanges - State
Trueor False ?

TRUE
FALSE

FALSE
Limitordersarethemostcommontype ofordersplacedinthemarket. Thebuyerorseller specifies

theprice. Alimitorderisplacedwhenaninvestor wantsatrade togetexecutedonlyif the desired
price becomes available in the market.

Unexecuted limit orders lapse and get cancelled at the end of the day.
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Question 21 The amount that the clearing corporation collects from its members to ensure that trades settle
without defaultis knownas

(a) Premium

(b) Margin

(c) Membership fees
(d) Special fees

Correct Answer  Margin
Answer Explanation Amarginistheamountoffundsthatonehastodepositwiththeclearingcorporationinorderto
cover the risk of non-payment of dues or non-delivery of securities.
Inorderto minimise this defaultrisk, bothbuyers andsellers of equityarerequiredtopaya
percentageoftheir duesupfrontatthetimeof placingtheirorder. Thispaymentis knownas

margin.
Question 22 Whenthekey marketindices arerising, thismeansthatthe economyis .
a) Weakening
(b) Stagnating
(c) Growing
(d) Decoupling

Correct Answer  Growing

Answer Explanation Asustained rise in key market indices indicate healthy revenues, profitability, capital investment and
expansionin large listed companies, which inturnimplies that the economy isgrowingstrongly.

A continuous decline or poor returns on indices is a signal of weakening economic activity.
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Question 23 Investorsindebtdonotenjoyafixedrateofreturnontheirinvestments-StatewhetherTrueor
False ?
(a) TRUE
(b) FALSE

Correct Answer FALSE

Answer Explanation Equity investors do not enjoy any fixed return or return of principal invested; debt investors earn a
fixed rate of interest and return of principal at maturity.

Question 24 Tax-freebondsare mainlyissued by PSUsin the
a) Service sector
(b) Infrastructure sector
(c) Banking sector
(d) All of the above

Correct Answer Infrastructure sector

Answer Explanation PSU (Public sector units) bonds can be categorized as taxable and tax-free bonds. Tax-free bonds are
mainlyissuedby PSUsintheinfrastructuresector. Thegovernment mayauthorize specific PSUsto

issue tax-freebonds. Interestincome earned from tax-free bonds is not taxable for theinvestor.
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(@)
(b)
(©)
(d)

Correct Answer

Answer Explanation

Question 26

(@)
(b)
(©
(d)

Correct Answer

Answer Explanation
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Largeinstitutionalinvestors such as venture capitalists may subscribe toequity inearly stages and
become

Special investors
Inside investors
Outside investors
IPO investors

Inside investors

Equity capital can be provided by two types of shareholders. The first are the inside shareholders or
promoters who start the company with their funds and entrepreneurial skills.

Large institutional investors such as venture capitalists may subscribe to equity in early stages and
becomeinsideinvestors. Thesecondset of ownersare outside-shareholders, ormembersofthe
public,whoinvestinthecompany’s equity shares atalater stageinorder tofunditssubsequent
expansions andoperations.

What is a special characteristics of a growth option in a mutual fund scheme?

When dividend is declared, the NAV goes down accordingly

The dividend declared is again invested in the fund

Dividend is declared when there is a profit but its not distributed to the unit holders
No dividend is declared

No dividend is declared

Inthe growth option, the gains madeinthe portfolioare notdistributedinthe form of dividend but
retainedin the fund. Dividends are never declared. The gains are reflectedin the rising NAV.

Investors can realise the gains by selling the units.
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Question 27 Filltheblanks-Debtsecuritiesare while Equitysecurities are
@) income oriented, growth oriented
(b) growth oriented, income oriented
(c) risk free securities, risky securities
(d) short term , long term

Correct Answer  income oriented, growth oriented

Answer Explanation Equity represents arisky, long-term, growth oriented investment that can show a high volatility in
performance, depending on how the underlying business is performing.
Debtrepresentsarelativelylowerrisk, steady, short-term,income-orientedinvestment.

Question 28 Investmentsin provide returns in form of capital appreciation and dividend.
(a) Gold
(b) Arts and Antiques
(c) Equity shares
(d) Debt securities

Correct Answer Equity shares

Answer Explanation Thereturnfromequityshareswillbeintheformofdividendandcapitalappreciation. Thereis
however no assurance on these returns.
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Question 29 Theoptionbuyer hasthe obligation andtherefore must exercise the option -State whether True or
False ?
(a) TRUE
(b) FALSE

Correct Answer FALSE

Answer Explanation Theoptionbuyerhasthe rightbutnoobligationwithregardstobuyingorsellingtheunderlying
asset, while the option writer (seller) has the obligation inthe contract.
Therefore, option buyer will exercise his option only when the situationis favourable tohim, but,
whenhedecidestoexercise, option writer wouldbe legally boundtohonourthecontract.

Question 30 Requirement of Rs 3 lakhs after ayear to pay for afamily vacationis an example of .
@) Financial Planning
(b) Financial Goal
(c) Risk Management
(d) Personal Finances

Correct Answer  Financial Goal
Answer Explanation Financialgoalisthetermusedtodescribethefutureneedsofanindividualthatrequirefunding. It

specifies the sumof moneyrequired tomeet the need whenitisrequired. Here 'vacation'isthe
future need, Rs 3 lakhs is the 'sum required’ and'1 year' is the time period.
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Question 31 Investorscanbuyandsellsecuritiesinthe market once they are issued by the issuer.
(@) Tertiary
(b) Secondary
(c) Primary
(d) Commodity

Correct Answer Secondary

Answer Explanation The secondary market ( generally the stock exchange ) is where securities once issued are bought and
sold betweeninvestors.

Question 32 ADepository Receiptissuedbyacompanyrepresentacertainnumberof underlyingsharesofthe
company - State whether True or False ?

@) TRUE
(b) FALSE

Correct Answer TRUE
Answer Explanation Depositoryreceipts (DRs)arefinancialinstrumentsthatrepresentsharesofalocalcompanybutare

listed and traded on a stock exchange outside the country. DRs are issued in foreign currency, usually
dollars.

Toissuea DR, aspecific quantity of underlying equity shares of acompany are lodged with
acustodian bank, whichauthorizes the issue of depository receiptsagainst the shares.
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Question 33 Onthelivestock marketticker,a upward arrow shows that the price has moved up compared
to previous day’s closing

(a) Red
(b) Blue
(c) Green
(d) Purple

Correct Answer Green

Answer Explanation Whenthe marketislive, prices of traded stocks and updated value of indices run as a ticker tape.

A green upward arrow shows that the stock price has moved up compared to previous day’s closing;
areddownwardarrowshowsthatthe pricehasfallencomparedtopreviousday’sclosing.

Question 34 Theprocessofreducingtheriskofconcentrationofinvestmentsinaparticularassetorassetclassis
known as
@) Diversification
(b) Active investment strategy
(c) Hedging
(d) Passive investment strategy

Correct Answer Diversification

Answer Explanation Diversification meanshavingacombination ofinvestmentsinaportfolioinsuchaway thatafallin
the value of one or few will be made up by other investments that are doing well.

Allocatingbetween differentassetclasses, such asequity, debt, gold, realestate, isthefirstlevelof
diversification.
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Question 35 is attached with the Key Information Memorandum (KIM).
(@) Scheme Information Document (SID)
(b) Statement of Additional Information (SAl)
(c) Application Form
(d) Fund Fact Sheet

Correct Answer  Application Form
Answer Explanation The application form for the NFO is available along with the Key Information Memorandum (KIM).

KIM gives important information about the scheme and procedures for investing.

Question 36 Thederivative contractsaresettledincashon basis by computing the difference between the
traded price and the daily settlement price.

(@) T+0
(b) T+ 1
(c) T+2
(d) T+3

Correct Answer T+1

Answer Explanation Allderivative contractsare settledincash ont+1basis by computing the difference between the
traded price and the daily settlement price. The daily settlement price is announced by the exchange.
It is the weighted average price of the last 30 minutes of trading.

T is the day trade
T+1 is the next working day
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Question 37 The obligation(s) of aninvestor while dealing with tradingmembers insecondary marketincludes
(a) Pay funds and securities for settlement on time
(b) Verify bank account and DP account for funds and securities movement
(c) Verify details of trades
(d) All of the above

Correct Answer All of the above

Question 38 TocalculatetheCurrent Yield, onehastocompare the coupon ofabond withitsmarket price - State
True orFalse?

@) TRUE
(b) FALSE

Correct Answer TRUE

Answer Explanation Current yield simply compares the coupon of a bond with its market price.
Current yield = Coupon rate/ Market price

Ifthe marketpriceisbelowthefacevalue, thencurrentyieldishigherthanthecoupon. If market
priceis higher than the face value, then current yield is lower than the coupon.
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Question 39 Which of these entities issue securities?
(a) Private Companies
(b) Government
(c) Financial Institutions
(d) All of the above

Correct Answer All of the above

Question 40 Who regulates the equity markets in India ?
(a) Reserve Bank of India (RBI)
(b) Ministry of Finance and Ministry of Corporate Affairs (MCA)
(c) Department of Economic Affairs (DEA)
(d) Securities and Exchange Board of India (SEBI)

Correct Answer  Securities and Exchange Board of India (SEBI)

Answer Explanation TheSecuritiesand ExchangeBoardofindia(SEBI),astatutorybodyappointedbyanAct
of Parliament (SEBI Act, 1992), is the chief regulator of securities marketsinIndia.
Secondary markets areregulated under the provisions of the Securities Contract Regulations Act,
1956 andSCR (Rules), 1957. SEBlisauthorised by law toimplementthe provisions of thisactandits
rules.
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